F Test for Hierarchical Regression

Restricted Model (R; fewer IVs) Y = B, + By X; +e > Rz = 1— o,

Full Model (F; more IVs) Y = B, + B, X; + B,X, +e > R =1— o2,

AR? =RZ—RZ -OR- AR*=(1-02)-(1-0Z%) =02 —0?
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oep=Oer (1-RR)=(1+-RE) RE-RR
df p—d N=JIp=1)=(N=Jp—1 - . -
Fpz = fR-dfF _ (N-Jr-1) (2 JE=1) _ _JF IR with df = JE—JR

dfp N= Jp=-1 N=Jp=1



Polymomial Regression

Model 1 (linear): Y = B, + B,X + e = R},
Quadratic Model 2 (quadratic): ¥ = By + B,X + B,X* + € > R .04
Model 3 (cubic): Y = B, + B, X + B,X? + B3X* +e 2 R,
Model 4 (quartic): Y = B, + By X + B, X? + B;X* + B,X* + € > R} ar
Variance Uniquely Explained by:

Quadratic Effect: AR? = Rj,.q — Riin

Cubic Effect: AR? = RZ,, — R§,aa

X Quartic Effect: AR? = R}, — RZ,



Eliminates nonessential multicollinearity
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Logistic Regression

Predicted Class
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Woderation

Model I (restricted): Y = By + B;X + Bo,Z + e = R}

F 4
Model 2 (full): Y = By + B;X + B,Z + B3(X * Z) + e = R}
AR?* = R} — R}
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